W=1500LL T W=1500L4TF 100~150
PBFA&yEL S E R (SUS)
M4 x 25 100 20
B T B (AL hyIL =)L (AL
S2520A S7029 ‘ ‘ - < %
K T (AL) hyFL—ILZ1F(AL) I, [l W-:a X1 %
540208 S6425 [l L] I 3 Gy
—Qe—*
2 PBFARAYE LT E R (SUS) & &= i £ N
I M4 x 20
Vi
=) (AL ¥
¥ o S5545 . ¥
A VATV h—(AL) *
@ 2 K55AA
LIS 1R &YE L RL(P-SUS)
v M4 x 25 e sL
- FEAERE R/ N — (i RE)
PS55MKN-C
BERTVH— s
M122 1 DARJLE (SUS) MEE
SR{AH
X
X
*
3
XHE(AL) VAT h—(AL) AL D/ A —E ) D67y A(SUS)
$5545 K55AA PS55MKN-C M4 x 13
AL #E D\ —(EhR) BRAYELRLP-SUS)  kyTL—IL(AL) XAE(AL) TIURFry T AE)
PS55MKN-C M4 x 25 $7029 S5545 K72ECNB
/ 45
A A = = S
| S| A —————
<1 | - e e
By \ }
|
‘H Saq2hhi—(AL) I F(AL M T TR vy T8
S4020JCA S4020AB S4020ECP
D6 T4 Z(SUS)
- 100 M4 x 13
BEFRITTiE 1 BIRFZITTiE 1 & F 2T~k 20
W=1500L1F W=1500L1F W=1500L1F 100~ 150
KR XHREVFIIKEREREICLYELGYET,
TIE WrE X T HEFHEX
N _— 2 £ B A IH% — N =S % &t i374=!
AN | &t 4B m— ) ) — 8% A
A — 7% | | =9 ﬁic:*i#/l’ v By | @\ | k@ |TEAE
ﬁ = 2 & A & 2 FLEERE N i R (A3)=1/8,1/25
A _— B i | | 1415 F .~ SL-Y4020-S6540-A

% B :2006.12.07

RE B : 2010.6.22

DQOPPOPOPDOOD

E-033



